(<
Il {Im Installation & Assembly Instructions

F1-50 In. W Mobile Stand-Alone Pegboard Unit with 4 Pegboards

Read all instructions completely before installing. Should you have any questions about your installation, please call
Customer Service at 440-248-5480. Missing and damaged parts must be reported within 5 days from receipt of
delivery.

Tools needed for this installation (Not supplied with kit) — Phillips Screwdriver or a Drill with Phillips Head Drill Bits -
Phillips Head Screwdriver — Wrench/Socket (9/16”) and (11/16”) — Assistance from 2" Person

Parts Listing

Quantity Description

4 24x48x1/4 Pegboards

(D= DuraBoard, DBK= Black DuraBoard, TBR= Brown Peghoard, TBK=Black Pegboard, TW= White Pegboard, LVP=Louvered Panel)
1 Upper Frame

1 Lower Frame with 8 Holes on one side, 6 Holes on the other, and 2 Holes on Top
2 Upright Assembly with Welded Triangular Support

2 Foot Assembly Bases

2 Fixed Casters with Hex Nuts

2 Locking Swivel Casters with Hex Nuts

1 Handle

4 Phillips Head Bolts

4 %" Hex Nut

4 %" Flat Washers

4 %" Lock Washers

6 3/8”-16x2-1/2" Tap Bolts

6 3/8”-16x1-3/4” Tap Bolts

8 Plastic End Caps

14 3/8” Flat Washers

14 3/8-16 Hex Nuts

14 3/8” Lock Washers

60 10-16x3/4” Phillips Modified Truss Head Self Drilling Screw
Installation

1. Align the Foot Assembly Base holes with the holes on the Upright Assembly with Welded Triangular Support
pieces (Front face of Triangular Support must be facing down). Slide the 3/8”-16x1-3/4” Tap Bolt from the outer
side, on the inner side of the Triangular Supports, slide (1) 3/8” Flat Washer, (1) 3/8 Lock Washer, and (1) 3/8-16
Hex Nut. Tighten using a 9/16” Wrench/Socket. (Repeat for the 2" Base Frame Side)

2. The Lower Frame includes 8 holes on one side, 6 on the other, and 2 on the top. Lay the frames down
horizontally with the set of holes on the bottom side of the Upper Frame with the holes on the top of Lower
Frame. Make sure that the side of the Lower frame with the 8 holes, lines up with the upper frame side which
has 2 holes.

Please contact our Customer Service Division with any questions at:
30700 D Carter Street - Solon, OH 44139 - (P) 440.248.5480 - support@tritonproducts.com

For a full line of products visit www.tritonproducts.com 1 INS3536



mailto:support@tritonproducts.com
http://www.tritonproducts.com/

(<
Il {II—QBL Installation & Assembly Instructions

3. Starting from the Upper Frame slide a 3/8”-16x2-1/2" Tap Bolt through the top towards the Bottom Frame. Slide
(1) 3/8” Flat Washer, (1) 3/8 Lock Washer, and (1) 3/8-16 Hex Nut on the Tap Bolt from the Lower Frame.
Tighten using a 9/16” Wrench/Socket.

4. With a second person to help, align the holes in the side of the assembled leg with the holes in the side of the
Lower Frame piece (Triangular Support facing outward). Choose desired height, and slide a 3/8”-16x2-1/2" Tap
Bolt through the outside of the frame. On the inside of the leg piece, slide (1) 3/8” Flat Washer, (1) 3/8 Lock
Washer, and (1) 3/8-16 Hex Nut. Tighten using a 9/16” Wrench/Socket. (Repeat for other side).

5. Toinstall the handle, place the handle over the 4 holes in the side of the frame (2 in the upper frame and 2 in
the lower frame) and slide (1) Philips Head Bolt, (1) 1/2” Flat Washer, (1) 1/2 Lock Washer, and (1) %4” Hex Nut.
Tighten using a 9/16” Wrench/Socket.

6. Toinstall the Casters, slide the caster through the foot assembly piece, and place a 3/8” Flat Washer, and 3/8”
Hex Nut. Tighten. Repeat this step for the rest of the casters.

7. Using the second person to help, stand the unit up.

8. Toinstall the pegboards, hold the board to the frame. Using the existing holes in pegboard and self-drilling
screws. Square up pegboard with the outside edge of your frame section. Using an electric drill with a high
performance #1 or #2 Phillips bit, install self-drilling screws into each of the corners opposite arm assemblies;
complete installation. Repeat step for other boards. To help expedite installation of your pegboard: You may
want to pre-drill where tap screws are to be installed using a 1/8”drill bit. Spread screws throughout all edges of
all 4 boards.

9. Place the Plastic End Caps inside the 2 openings on the Upper Frame, the openings at the end of each Foot
Assembly Base, the openings at the top of each Upright Assembly.

Warranty information: Triton Products warrants to the original owner that this product is free from defects in material
and workmanship for a period of two years from the date of the original purchase. If this product is defective when used
as intended under normal household conditions within the specified period, Triton will replace the product, send a
replacement part or issue a refund (at our option) when the consumer provides a proof of purchase (either a bill of sale,
receipted invoice or other proof that the product is within the warranty period), along with a full description of the
defect.

Liability: Triton Products and/or its Reseller’s liability are limited to 100% of the purchase price of the product.

Please contact our Customer Service Division with any questions at:
30700 D Carter Street - Solon, OH 44139 - (P) 440.248.5480 - support@tritonproducts.com

For a full line of products visit www.tritonproducts.com 2 INS3536



mailto:support@tritonproducts.com
http://www.tritonproducts.com/

